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Q.I  Choose the correct answer: 
 

 

 a) 
 

The place value of 8 in 684 is ______________.  

  
 

(i) 80                (ii)     800                   (iii)     8            (iv)     100  

 b) 
 

Dividing into equal groups is called _______________.  

  
 

(i) addition     (ii)     subtraction     (iii)   division   (iv)    multiplication  

 c) 
 

The product of 5 and 4 is ______________.  

  
 

(i) 5                  (ii)        1                     (iii)       9          (iv)     20  

 d) 
 

10 added to 125 is ________________.  

  
 

(i) 115             (ii)        135                 (iii)      125       (iv)     110  

 e) 
 

₹ 25 – ₹ 5 = _______________.  

  
 

(ii) ₹ 25       (ii)     ₹ 30         (iii)     ₹ 20      (iv)   ₹  5  

Q.II  
 

Fill in the blanks:  

 a) 
 

900 + 30 + 2 = _______________ 
 
____________ ₹ 1 coins make ₹ 5. 
 
If 8 X 3 = 24, then 3 X 8 = _____________. 
 
100 more than 345 is _________________. 
 
The face value of 4 in 498 is _______________. 

 

 b)  
   
 c) 

 
d) 
 
e) 
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Q.III  Solve: 
 

 

 a)  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

T O 
 

 
5 

 
9 

 
2 

 
5 

 
 

 
 
 

T O 
 

 
3 

 
1 

 
 

 
3 

 
 
 

 

T O 
 

 
9 

 
2 

 
7 

 
0 

 
 
 

 

T O 
 

 
7 

 
3 

 
1 

 
4 

 
 
 

 

 

 
Q.IV 

  
Do as directed: 
 

 

 a)  Share equally and find how many fish in each bowl. 
 

                                            

                                                           

             
 
There are ___________ fish in each bowl. 
 

 

 b) Tick the greatest number and cross out the smallest number. 
 

 

  
 

i) 756              678              955              687  

         _ 

 

       _ 

 

       X 

 

             

b) 

 

         

d) 

 

      c) 

 

         _ 

 

         + 

 



ISD/TERM II/REVISION WORKSHEET/SKV/ CLASS-2/ MATHS/2018-19                                                                                                                                          
 

 c) Write the amount of money. 
 

   + +      =   ₹  _____________ 

 

 

 d) Divide: 
 
8 divided by 4 is ____________.                                       
                                                                                         
Each group has _____________ pears.            
                                                                                                                               

 

Q.V  
 

Write the numbers in the correct place and add or subtract:  

 a)    626 + 57                                                                          b)       500-132 
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Q.VI  
 
 

Find the product: 
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T 

 
O 
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H 

 
T 
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0 
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  X   X 
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Q.VII  Rohan’s mother is making his favourite fruit salad. Look at the pictograph given 
below and answer the following questions. 

Fruit 
 

Number of fruits 

                     Banana 

 
4 

                   Apple 

 
8 

                 Orange  

 
5 

                    Mango 

 
2 

a) Which fruit is used more in the fruit salad ?                    _______________ 

b) How many oranges are used ?                                            _______________ 

c) Which fruit is used the least?                                             ________________ 

d) How many more bananas are used than mangoes?       ________________ 

 

Q.VIII  Read the questions carefully and solve it: 
 

 

 a) Tina had ₹ 60 in her bag. She gave ₹ 25 to her friend. How 
much money is left with her? 
 
 
 
 
 
______________________________________________ 
 

 
H 

 
T 

 
O 

 
 

 
 

 
 

 
 

  
 

 
 

  

 

 b) 
 

A box contains 58 sweets. How many sweets are there in 
4 such boxes? 
 
 
 
 
 
 
_______________________________________________ 
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O 

 
 

 
 

 
 

 
 

  
 

 
 

  

 

 

   

   

    Ans: 

     Ans: 


